Key to Final Exam; F4360; 12:30 Class; Fall, 1999; page 1 of 5

1.  You are scheduled for an office visit with Gorf Enterprises in Houston next weekend.  You have heard through the grapevine that one of the first questions they ask you during the interview is what major problems Gorf seems to be having the present.  Most everyone has discussed recent stories that have shown up in the Wall Street Journal about Gorf.  However, you have decided to do some research on your own.

a.  In addition to the financial statements contained in the 10-k, what information will you need to gather in order to do your analysis?

b.  How will you use this information to determine any problems that Gorf might be having?

2.  Pickstar CEO Steve Blobs has recently stated that Pickstar expects to continue paying quarterly dividends for the forseeable future.  How would you use the following information to determine the rate you should use to calculate the present value of these dividends so that you can decide how much Pickstar is worth?


Return on:

Economic Conditions
Probability
Pickstar
S&P500
T-bills
Let the good times roll
.35
52%
26%
4.8%


Ho Hum
.45
18%
12%
4.8%

Crash and burn 
.20
-14%
-2%
4.8%

3.  You think that like most Internet stocks Yahooie Inc. is wildly overvalued.  As a result, you would like to purchase some puts on Yahooie stock that expire 7 months from today and which have an exercise price of $80 per share.  Use the following information to determine a fair price to pay for 6 put contracts on Yahooie.

Price of Yahooie stock:  Yahooie stock was issued 2 years ago at $25 per share.  Within a month, the price had risen to $70 per share.  Yahooie stock price at the moment equals $112 per share.  By 7 months from today, you expect the price of Yahooie to fall to $60 per share and by a year from today you expect Yahooie to sell for $15 per share.

Standard deviation of returns on Yahooie stock:  In the first month after Yahooie stock was issued, the standard deviation of returns on Yahooie was 82%.  Over the next 2 years, the standard deviation of returns is expected to be 46%.  This is almost twice as volatile as the market which is expected to have a standard deviation of returns of 23% but is roughly in line with the average Internet stock which is expected to have a standard deviation of returns of 43% over the next 2 years.

Return on Treasuries (all with continuous compounding):  1 month = 5.32%, 2 months = 5.15%, 3 months = 5.23%, 6 months = 5.56%, 7 months = 5.74%; 1 year = 5.81%; 2  year = 5.96%

4.  Due to unexpectedly high demand , Go Beyond Inc. is considering expanding its production capacity.  This new capacity will involve expanding current facilities using land which currently contains employee parking.  Land  to provide additional parking (to replace the parking spaces which will be lost) can be purchased for $125,000.  Expanding the production facilities would involve spending $350,000 immediately then $400,000 per month for the next 3 months.  During the expansion, the current production line would have to be shut down and sales of $30,000 per month would be lost.  However, production costs of $17,000 per month would also be saved during the shut down.  Four months from today, the expanded facility will open and sales would increase from the current $30,000 per month to $68,000 per month.  Production costs will increase from $17,000 per month to $32,000 per month.  Production from the expanded facility is expected to continue through 15 years from today.  If the required return on the project is 14.5% per year, should it be undertaken?

5.  Northern Utility has just announced that it intends to cut its quarterly dividend payment.  In the press release, Northern has stated that the firm believes it has found alternative uses of the cash which it believes would better serve stockholder interests.  It then goes on to discuss those alternative uses of the cash.  

a.  Given our discussion in class, what alternative actions might Northern be talking about?  

b.  How would these alternative uses for the cash be in stockholder interests?

c.  How might cutting the quarterly dividend to pursue these actions end up hurting stockholders?
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6.  VALinux Inc. has recently changed from paying bonuses on the basis of Earnings Per Share to paying bonuses on the basis of Economic Value Added.  

a.  How will a bonus based on EVA better align the interests of managers and stockholders than a bonus system based on EPS?

b.  How would you expect the behavior of managers to change as a result of the switch in incentive systems?

7.  Yesterday Breordus Inc. and Cruxty Inc. both announce that they intended to increase their leverage by issuing debt and using the proceeds to repurchase common stock.  At the announcement, Breordus’s stock price rose and Cruxty’s fell.  Given our discussion of capital structure, how would you explain this difference in how the market responded to these announcements?

8.  The CFO of Dotcom  Inc. states that because of the rapid increase in Dotcom’s stock price, he estimates that the annual rate of return on Dotcom equals 29% per year.  As a result, Dotcom will not consider investing in any asset which offers an internal rate of return of less than 29% per year. Discuss why such a rule will likely lead to sub-optimal investing from the stockholder’s perspective.

Solutions

1.  
a.  beta for equity [2], bond rating [2], market value of equity [2], industry average ratios [4]

b.  Ratio analysis [8]:  

activity ratios to see if problems with asset management [2]

inventory turnover [1] => how effectively managing inventories [1]

average collection period [1] => how effectly managing receivables [1]


=> compare to credit terms [1]

total asset turnover [1] => how effectively managing assets [1]

profitability ratios to see if problems with operating profits [2]

net profit margin [1] => profit per $ of sales [1]

return on assets [1] => profit per $ of assets

return on equity [1] => profit per $ of stockholder investment

leverage ratios to see if too much debt [2]

debt ratio [1] => % of assets funded with debt [1]

interest coverage ratio [1] => is firm able to pay interest [1]

=> problem if < 1.0 [1]

short-term solvency ratios to see if firm has liquidity problem [2]

current ratio [1] => current assets per $ of current liabilities [1]

quick ratio [1] => more stringent definition of liquidity [1]

=> ratios far above or far below industry indicates a potential problem [6]

=> trend away from industry averages indicates potential problem [6]

EVA analysis [8]

=> compare to zero [6] and see if increasing or decreasing [6]

Note:  numbers in brackets show up as checks on your exam, the total number of checks should be given somewhere around the question number.

Scale [checks=points]: 52=50, 45=48, 38-40=47, 35-36=46, 34=45, 33=44, 31=43, 30=42, 29=41, 27=40, 26=39, 24-25=38, 22-23=37, 20-21=36, 17-18=35, 15=34, 10-11=32, 8-9=30, 4=28

Example:  if you have 24 or 25 total check marks, then you will get 38 points on this question.
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2.  
E(rp) = .35(52) + .45(18) + .2(-14) = 23.5

E(rs&p) = .35(26) + .45(12) + .2(-2) = 14.1

s&p = .35(52-23.5)(26-14.1) + .45(18-23.5)(12-14.1) + .2(-14-23.5)(-2-14.1) = 244.65
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r = 4.8 + 2.3663 (14.1 - 4.8) = 26.8064
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Points:  Equations [+4 each, E(r) worth +4 total]; Variables:  probabilities [+6], returns on pickstar [+6], returns on market [+6], risk free [+2], market risk premium [+2], 1/4 [+4]

3. 2 = (.46)2 = .2116
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=> 2.40818 x 600 = 1444.91

Partial Credit:  Equations:  d1, C0, and P0 [+7 each], d2 [+4]; Variables:112,.0574, .2116, 
[image: image8.wmf]12

7

[+4 each]; 80, N(d1), N(d2) [+2 each]; 600 [+2], final answer [+1]
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5.  a.  
(1) repurchasing shares of stock [4]

(2) investing in negative NPV projects [4]

(3) acquiring firms [4]

(4) invest in marketable securities [4]

b.  
(1)  taxed only on gain vs. entire distribution [4]

(2) loss due to negative NPV may be less than tax loss [4]

(3) loss due to acquisition costs may be less than taxes [4]

(4) corporate income taxed at lower rate than individuals in top tax bracket [2] and only a portion of dividends is taxable if received by another corporation [2].

c.  
(1)  if more is lost with alternative actions than lost in taxes [4]

(2)  stock prices may fall [2] as market interprets the cut in dividends as a signal [2] of management's [2] pessimism [2] about future earnings [2]

(3)  may reduce chance that firm will have to issue securities in future => increasing stockholder-manager conflict  [4]

(4)  may benefit bondholders at expense of stockholders as bonds become safer [4]

Scale [checks=points]: 36=50, 32=48, 31=47, 30=46, 28=45, 27=44, 26=43, 25=42, 24=41, 22=40, 21=39, 20=38, 19=37, 18=36, 16-17=35, 13-14=34, 12=33, 11=32, 8=31, 4=30, 2=25
6.  
a.  EVA is a better measure of whether the firm is creating wealth for stockholders than EPS [4]:

(1) includes cost of all capital being used by firm [6]

(2) adjusts to reflect cash flows rather than accruals [2]

(3) reflects only profits from ongoing operations [2]

(4) removes conservative bias in accounting statements [2]

(5) leverage doesn't affect EVA [2]

(6) can be used at any level of firm for which have accounting data [2]

b.  Expect managers to work to increase performance of firm by:

(1)  eliminating excess assets [4]which earn less than the firm's cost of capital [2]

(2)  reduce investment [4] as make sure only invest in new assets than earn more than the cost of new capital employed [2]

(3) attempt to cut costs to operate existing assets more efficiently [4].

Scale [checks=points]: 30=50, 27=48, 24=47, 21=45, 20=44, 18=42, 16=41, 15=40, 14=39, 12=37, 10-11=36, 8-9=35, 6=34, 5=33, 4=32, 2=30, 1=25
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7.  Market must believe that Breordus has less debt than is optimal [4] and that Cruxty has more debt than optimal [4]

=> optimal = benefit of last $ of debt just equals cost of last $ of debt [4]

=> benefit from extra debt for Breordus > cost [2]

=> benefit from extra debt for Cruxty < cost [2]

Benefits from debt:

1)  corporate tax shield [4] from debt

=> the market may expect Breordus to benefit more from the tax shield than Cruxty [4]

2)  debt helps resolve stockholder-manager conflict [4]

=> takes discretionary cash out of management's hands so they won't waste it [2]

=> allows for concentration of ownership in management's hands [2]

=> keeps management's feet to the fire since must meet debt service [2]

=> the market may expect Breordus to benefit more from the resolution of conflict than Cruxty [4] possibly due to more surplus cash

Costs of debt:

=> distress costs

=> bankruptcy costs [4] like legal fees [1], court costs [1], reorganization costs [1], administrative costs [1]

=> indirect costs due to impaired ability to run the firm

=> loss of key employees [2], lost sales [2], higher credit costs [2], loss of supplier credit [2]

=> diversion of management as try to keep company afloat [2]

=> cost imposed on firm by bondholders [4] due to stockholder-bondholder conflict

=> market may perceive costs associated with issuing debt are higher for Cruxty [4]

Scale [checks=points]: 38=50, 34=49, 32=48, 28=47, 25=46, 24=45, 23=44, 22=43, 20=42, 19=41, 18=40, 16-17=39, 14=38, 12=37, 10=36, 8=35, 7=34, 6=33, 4=32, 2=30, 1=25
8.  
1)  Accepting/Rejecting projects on the basis of IRR may not lead to acceptance of projects which increase wealth the most [8]

Reasons:

1)  IRR doesn't take into consideration scale of projects [4]

2)  biased against long-term projects [2]

3) in certain situations want lowest IRR < required return [4]

4) may have multiple IRRs [2]

5) may have no IRR [2]

2)  29% may not be required return on project [4] given the risk of the project [4]

Reasons:

1)  should use weighted average cost of capital for firm, not just return on equity [4]

2)  return that stock realized may not equal required return based on risk

=> small sample [4]

=> stock may have just done extraordinarily well recently [4]

Scale [checks=points]: 22=50, 19=48, 18=47, 16=45, 13=43, 12=42, 11=41, 10=40, 9=39, 7-8=37, 6=36, 4=35, 3=33, 2=30, 1=25
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